Sociology 3 Critical Thinking 

Note:  Before you begin this paper, be sure to read chapter 2 in Public Opinion on Social Issues (see Canvas).  
Instructions for Paper 1—Opinions on Gun Control (40 points max)

The first paper will use data from a survey conducted by the Pew Research Center.
  This was a large survey of approximately 2,000 adults in the United States conducted in 2016.  It focused on a number of topics including how people feel about guns which will be our focus in this paper. The data have already been weighted to better represent the population of all adults in the United States during this time period.  The name of the data file is “pew 2016 subset for classes” and it is on both the S176 Share in Science 176 and the SS202 Share in Social Sciences 202.   

Part 1.  Exploring how people feel about gun issues 
The Pew survey asked respondents a number of questions that dealt with guns. 
   These include the following: 
· gun ownership (guns1rec),

· whether it is more important to protect or control gun ownership (guns2),

· a recoded version of guns2 (guns2rec),

· whether gun ownership does more to protect or to put safety at risk (guns3),

· whether they favor or oppose:

· laws to prevent those who are mentally ill to own guns (guns4),

· making private gun sales and sales at gun shows subject to background checks (guns5), 
· a ban on assault style weapons (guns6),

· creating a federal government database to track all gun sales (guns7),
· a ban on high-capacity ammunition clips (guns8), and 

· barring gun purchases by people on federal no-fly or watch lists (guns9).

We’re going to use three of these variables – guns1rec, guns2rec, and guns3 in this paper.  Run frequency distributions for these three variables.  Copy the tables from SPSS to your Word document saving the table as either a jpeg or metafile and pasting it in as the same.  Write a paragraph explaining what they tell you about gun ownership and how people feel about guns in the United States.
Part 2.  Where People Live (Geography)
The goal of this paper is to explore some of the reasons that people have different feelings about gun ownership. One of the questions asked in the Pew survey was, “What do you think is more important – to protect the right of Americans to own guns, or to control gun ownership?”  The name of this variable is guns2rec.  All the variables about guns start with “guns.”  “Rec” indicates that this is a recoded variable.
Let’s start by looking at the relationship between where people live and how they feel about gun ownership.  All the variables describing where people live start with “geog” for geography.  One way of describing respondents’ geography is to classify their place of residence as rural, suburban, or urban.  The name of this variable is geog_usr.  
What might our hypothesis look like?  Remember that the hypothesis specifies the relationship that we expect to find between where people live and how they feel about gun ownership.
Urban residents are more likely to support controlling gun ownership while rural residents are more likely to favor protecting gun ownership.  Suburban residents will fall in the middle between urban and rural residents.
We need to provide support for our hypothesis.  What would our argument look like?

There are a number of reasons why urban residents are more likely to support controlling gun ownership and rural residents are more likely to favor protecting gun ownership.  First, rural residents are more likely to own guns.  Second, rural residents are more likely to engage in hunting.  Third, rural residents are more likely to be politically conservative and conservatives are more likely to support gun ownership.  For these reasons, urban residents are more likely to support controlling gun ownership while rural residents are more likely to favor protecting gun ownership.  
What should the data look like if our hypothesis is correct?  Let’s construct a dummy table showing what the table should look like assuming the hypotheses to be true.  
	Opinion on gun ownership
	Rural
	Suburban
	Urban

	Protect
	A>
	B>
	C

	Control 
	D<
	E<
	F


Notice that we have placed suburban residents in between urban and rural residents based on the assumption that their beliefs will fall somewhere in the middle. 

Now run the tables in SPSS showing the actual relationship between where people live and how respondents feel about gun ownership.  In SPSS go to Analyze/Descriptive Statistics/Crosstabs.  Put your independent variable (geog_usr) in the column, your dependent variable (guns2rec) in the row, and get the correct percentages (column).  Copy this table from SPSS to your Word document saving the table as either a jpeg or metafile and pasting it in as the same.  
Finally, interpret the table which means to summarize the results and explain whether or not the hypothesis was supported.  Use the percents from your table to help you interpret the table.  Remember that you don’t want to make too much out of small percent differences because it could just be sampling error.  Let’s use the five percent rule.  If a percent difference is less than 5 percent, assume it is just sampling error and don’t make too much out of it.  Make sure that you compare your percents in the opposite direction to the way they sum to 100.  If you have set your table up correctly, your percents should sum down to 100 and you should compare the percents straight across.  Divide your answer into three paragraphs.   The first paragraph should summarize in words the pattern of the percents.  The second paragraph should use the percents to illustrate the pattern.  Then the third paragraph should indicate whether the data support your hypothesis.

Finally, look at suburban residents.  Did they fall somewhere between urban and rural residents?  Were they closer to urban or rural residents?  Be sure to cite the percents in your answer.  
Part 3 – Political Party Identification 
Next we’re going to look at the relationship between political party identification and how people feel about gun ownership (guns2rec).  Here’s our hypothesis.

Democrats are more likely to support controlling gun ownership while Republicans are more likely to favor protecting gun ownership.  

Why should this be the case?  What’s the argument to support our hypothesis?

Democrats are more politically liberal than Republicans and liberals are more likely to want to control gun ownership because of the effects of gun violence on people.  Therefore, Democrats are more likely to support controlling gun ownership while Republicans are more likely to favor protecting gun ownership.

What should the data look like if our hypothesis is correct?  Let’s construct another dummy table showing what the table should look like assuming the hypothesis to be true.
	Opinion on gun ownership
	Republican
	Independent
	Democrat

	Protect
	A>
	B>
	C

	Control 
	D<
	E<
	F


Run the table in SPSS showing the actual relationship between political party identification (pol2) and how people said they felt about gun ownership (guns2rec).  In SPSS go to Analyze/Descriptive Statistics/Crosstabs.  Be sure to put your independent variable (pol2) in the column, your dependent variable (guns2rec) in the row, and get the correct percentages (column).  Copy this table from SPSS to your Word document saving the table as either a jpeg or metafile and pasting it in as the same.  
Finally, interpret the table which means to summarize the results and explain whether or not the hypothesis was supported.  Use the percents from your table to help you interpret the table.  Remember that you don’t want to make too much out of small percent differences because it could just be sampling error.  Let’s use the five percent rule.  If a percent difference is less than 5 percent, assume it is just sampling error and don’t make too much out of it.  Make sure that you compare your percents in the opposite direction to the way they sum to 100.  If you have set your table up correctly, your percents should sum down to 100 and you should compare the percents straight across.  Divide your answer into three paragraphs.   The first paragraph should summarize in words the pattern of the percents.  The second paragraph should use the percents to illustrate the pattern.  Then the third paragraph should indicate whether the data support your hypothesis.

Part 4.  Political Ideology 
Now let’s look at the relationship between political ideology (i.e., conservative, moderate, or liberal) and how people said they felt about gun ownership (guns2rec).  Again, let’s start with the hypothesis.

Conservatives are more likely to support gun ownership while liberals are more likely to favor controlling gun ownership
Why should this be the case?  What’s the argument to support our hypothesis?
Conservatives are more likely than liberals to be Republicans and Republicans are more likely to support gun ownership.  Therefore, conservatives are more likely support gun ownership and liberals are more likely to want to control gun ownership.    
What should the data look like if our hypothesis is correct?  Let’s construct another dummy table showing what the table should look like assuming the hypothesis to be true.
	Opinion on gun ownership
	Very Conservative
	Conservative
	Moderate
	Liberal
	Very Liberal

	Protect
	A>
	B>
	C>
	D>
	E

	Control 
	F<
	G<
	H<
	I<
	J


Run the table in SPSS showing the actual relationship between political ideology (pol3) and how people said they felt about gun ownership (guns2rec).  In SPSS go to Analyze/Descriptive Statistics/Crosstabs.  Be sure to put your independent variable (pol3) in the column, your dependent variable (guns2rec) in the row, and get the correct percentages (column).  Copy this table from SPSS to your Word document saving the table as either a jpeg or metafile and pasting it in as the same.  
Finally, interpret the table which means to summarize the results and explain whether or not the hypothesis was supported.  Use the percents from your table to help you interpret the table.  Remember that you don’t want to make too much out of small percent differences because it could just be sampling error.  Let’s use the five percent rule.  If a percent difference is less than 5 percent, assume it is just sampling error and don’t make too much out of it.  Make sure that you compare your percents in the opposite direction to the way they sum to 100.  If you have set your table up correctly, your percents should sum down to 100 and you should compare the percents straight across.  Divide your answer into three paragraphs.   The first paragraph should summarize in words the pattern of the percents.  The second paragraph should use the percents to illustrate the pattern.  Then the third paragraph should indicate whether the data support your hypothesis.

Part 5.  Socioeconomic Status (Education)
Socioeconomic status refers to a person’s position within the social structure.  For more information, go to https://www.dictionary.com/browse/socioeconomic-status.  Two commonly used measures of socioeconomic status are education and family income.  In this part of the paper we’re going to look at the relationship between education (demo_educrec) used as a measure of socioeconomic status and how people feel about gun ownership (guns2rec).  Variables that are demographic in nature all begin with “demo.”  Demographic variables describe characteristics of individuals such as education, income and sex.  
Here’s what you should do in this section.

1. State your hypothesis indicating what you think the relationship will be between education and how people feel about gun ownership. A hypothesis should be only one or two sentences.  Remember that clarity is essential.  Look at the examples in Parts 2, 3, and 4.

2. Construct an argument that supports your hypothesis.  Remember that your hypothesis will be the conclusion to your argument.  For the argument, underline the final conclusion (i.e., your hypothesis) and circle all inference indicators.  Do not circle anything that is not an inference indicator (e.g., and, but). Bracket and number all claims.  Draw a diagram (using numbers and arrows) for your argument that is similar to what we did in class. 

3. Construct a dummy table showing what the table should look like if the hypothesis is correct.  Use “Tables” in Word to construct the dummy table.  See the examples earlier in this paper assignment for sample dummy tables.

4. Use SPSS to produce the two-variable crosstab for your hypothesis. Remember to put the independent variable in the column, the dependent variable in the row, and to request the appropriate percents (column) for your table.  Copy this table from SPSS to your Word document saving the table as either a jpeg or metafile and pasting it in as the same.  
5. Finally, interpret the table which means to summarize the results and explain whether or not the hypothesis was supported.  Use the percents from your table to help you interpret the table.  Remember that you don’t want to make too much out of small percent differences because it could just be sampling error.  Let’s use the five percent rule.  If a percent difference is less than 5 percent, assume it is just sampling error and don’t make too much out of it.  Make sure that you compare your percents in the opposite direction to the way they sum to 100.  If you have set your table up correctly, your percents should sum down to 100 and you should compare the percents straight across.  Divide your answer into three paragraphs.   The first paragraph should summarize in words the pattern of the percents.  The second paragraph should use the percents to illustrate the pattern.  Then the third paragraph should indicate whether the data support your hypothesis.

Part 6.  Socioeconomic Status (Family Income)
In this part of the paper we’re going to use family income (demo_incomerec) as our measure of socioeconomic status.  One of the things were going to look at is whether each measure (education and family income) shows the same relationship with how people feel about gun ownership (guns2rec). 
Here are the steps you will go through in this section.  They are exactly the same as in Part 5 with the addition of point 6 below.
1. State your hypothesis indicating what you think the relationship will be between family income and how feel about gun ownership.  A hypothesis should be only one or two sentences.  Remember that clarity is essential.  Look at the examples in Parts 2, 3, and 4.
2. Construct an argument that supports your hypothesis.  Remember that your hypothesis will be the conclusion to your argument.  For each argument, underline the final conclusion (i.e., your hypothesis) and circle all inference indicators.  Do not circle anything that is not an inference indicator (e.g., and, but).  Bracket and number all claims.  Draw a diagram (using numbers and arrows) for your argument that is similar to what we did in class. 

3. Construct a dummy table showing what the table should look like if the hypothesis is correct.  Use “Tables” in Word to construct the dummy tables.  See the examples earlier in this paper assignment for sample dummy tables.

4. Use SPSS to produce a two-variable crosstab for your hypothesis. Remember to put the independent variable in the column, the dependent variable in the row, and to request the appropriate percents (column) for your table. Copy this table from SPSS to your Word document saving the table as either a jpeg or metafile and pasting it in as the same.  
5. Finally, interpret the table which means to summarize the results and explain whether or not the hypothesis was supported.  Use the percents from your table to help you interpret the table.  Remember that you don’t want to make too much out of small percent differences because it could just be sampling error.  Let’s use the five percent rule.  If a percent difference is less than 5 percent, assume it is just sampling error and don’t make too much out of it.  Make sure that you compare your percents in the opposite direction to the way they sum to 100.  If you have set your table up correctly, your percents should sum down to 100 and you should compare the percents straight across.  Divide your answer into three paragraphs.   The first paragraph should summarize in words the pattern of the percents.  The second paragraph should use the percents to illustrate the pattern.  Then the third paragraph should indicate whether the data support your hypothesis.

6. When you interpret the table, discuss whether family income showed the same relationship with how people felt about gun ownership as did education in Part 5.  What does this tell you about the relationship between socioeconomic status and how people feel about gun ownership?

Part 7.  Age 

Age is another important marker of a person’s position in the social structure.  In this part we’re going to look at the relationship between age (demo_agerec2) and how people feel about gun ownership (guns2rec).

Here are the steps you will go through in this section.  They are exactly the same as in Part 5.

1. State your hypotheses indicating what you think the relationship will be between age and how people feel about gun ownership.  A hypothesis should be only one or two sentences.  Remember that clarity is essential.  Look at the examples in Parts 2, 3, and 4.
2. Construct an argument that supports your hypothesis.  Remember that your hypothesis will be the conclusion to your argument.  For each argument, underline the final conclusion (i.e., your hypothesis) and circle all inference indicators.  Do not circle anything that is not an inference indicator (e.g., and, but).  Bracket and number all claims.  Draw a diagram (using numbers and arrows) for your argument that is similar to what we did in class. 

3. Construct a dummy table showing what the table should look like if the hypothesis is correct.  Use “Tables” in Word to construct the dummy tables.  See the examples earlier in this paper assignment for sample dummy tables.

4. Use SPSS to produce a two-variable crosstab for your hypothesis. Remember to put the independent variable in the column, the dependent variable in the row, and to request the appropriate percents (column) for your table. Copy this table from SPSS to your Word document saving the table as either a jpeg or metafile and pasting it in as the same.  
5. Finally, interpret the table which means to summarize the results and explain whether or not the hypothesis was supported.  Use the percents from your table to help you interpret the table.  Remember that you don’t want to make too much out of small percent differences because it could just be sampling error.  Let’s use the five percent rule.  If a percent difference is less than 5 percent, assume it is just sampling error and don’t make too much out of it.  Make sure that you compare your percents in the opposite direction to the way they sum to 100.  If you have set your table up correctly, your percents should sum down to 100 and you should compare the percents straight across.  Divide your answer into three paragraphs.   The first paragraph should summarize in words the pattern of the percents.  The second paragraph should use the percents to illustrate the pattern.  Then the third paragraph should indicate whether the data support your hypothesis.

Part 8.  Conclusions

What did you learn about how people felt about gun ownership?  Which variables help explain how people feel about gun ownership?  Are some of these variables more strongly related to how people feel about guns?  Which ones?  How do you know?

Summary of your paper

Here is what you are going to hand in for your first paper.

1. For Part 1 hand in the frequency distributions for guns1rec, guns2rec, and guns3.  Write a sentence or two describing how respondents answered these questions.  What do the frequency distributions tell you gun ownership and how people feel about guns in the United States?  Be sure to use the valid percents.  

2. For Part 2 hand in the crosstabulation (from SPSS) for geog_usr and guns2rec along with your interpretation of the table.  Be sure to include the appropriate percents.  Divide your answer into three paragraphs.  The first paragraph should describe the pattern of the percents; the second paragraph should use the percents to illustrate the pattern; the third paragraph should indicate whether the data support your hypothesis.  Also, be sure to discuss whether suburban residents are closer to urban or to rural residents in their views about gun ownership. Remember to cite the percents in your answer.  Don’t forget to include the crosstabulation from SPSS.
 
3. For Part 3 hand in the crosstabulation (from SPSS) for pol2 and guns2rec and your interpretation of the table.  Be sure to include the appropriate percents.  Divide your answer into three paragraphs.  The first paragraph should describe the pattern of the percents; the second paragraph should use the percents to illustrate the pattern; the third paragraph should indicate whether the data support your hypothesis.  Don’t forget to include the crosstabulation from SPSS.
4. For Part 4 hand in the crosstabulation (from SPSS) for pol3 and guns2rec and your interpretation of the table.  Be sure to include the appropriate percents.  Divide your answer into three paragraphs.  The first paragraph should describe the pattern of the percents; the second paragraph should use the percents to illustrate the pattern; the third paragraph should indicate whether the data support your hypothesis.  Don’t forget to include the crosstabulation from SPSS.
5. For Part 5 hand in the crosstabulation (from SPSS) for demo_educrec and guns2rec and your interpretation of the table.  Be sure to include the appropriate percents.  Divide your answer into three paragraphs.  The first paragraph should describe the pattern of the percents; the second paragraph should use the percents to illustrate the pattern; the third paragraph should indicate whether the data support your hypothesis.  See Part 5 for the steps you should follow.  Don’t forget to include the crosstabulation from SPSS.

6. For Part 6 hand in your analysis for demo_incomerec and guns2rec. Divide your answer into three paragraphs.  The first paragraph should describe the pattern of the percents; the second paragraph should use the percents to illustrate the pattern; the third paragraph should indicate whether the data support your hypothesis.  See Part 6 for the steps you should follow.  Don’t forget to include the crosstabulation from SPSS.

7. For Part 7 hand in your analysis for demo_agerec2 and guns2rec.  Divide your answer into three paragraphs.  The first paragraph should describe the pattern of the percents; the second paragraph should use the percents to illustrate the pattern; the third paragraph should indicate whether the data support your hypothesis.  See Part 7 for the steps you should follow.  Don’t forget to include the crosstabulation from SPSS. 

8. For Part 8 hand in your conclusions.  What did you learn about how people felt about protecting or controlling gun ownership?  Which variables help you explain why some people wanted to protect and others wanted to control gun ownership?  Are some of these variables more strongly related to how people felt?  Which ones?  How do you know?

Be sure to include all parts of these instructions. 
Notes on Preparing your Paper:

Your paper should be prepared using a word processor.  Double space the paper.  Use one-inch margins and 12-point type.  Number the pages.  Organize the paper by parts.  Use the part number as the heading for each subsection.  Please do not put your paper into any type of binder.  Just staple your paper together.

The papers will be read and graded by the instructor using several criteria.  These criteria include the extent to which the papers use and show understanding of how to develop and diagram arguments and how to construct and interpret tables.  Other important criteria are the extent to which the paper is logically organized and the quality of your writing.
Remember that it is permissible for students to work together to get their tables from SPSS but you must write your own answers in all parts of the paper.  You cannot hand in a group answer.  Answers that appear to be identical or nearly identical will not be accepted.
� Note that this is not the original data set from Pew.  I have subsetted the variables, recoded some variables, created some new variables, and renamed the variables.  


� Survey research depends on what people are willing to tell us.  It’s possible that some people are only telling us what they think we want to hear.  Even given this limitation, we can use the results of this survey to tell us a lot about how people feel about gun issues.
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